[ & ERoHS |

TORQUE SCREWS

H188%T

No.E-9962

208 sum22
OB ATIHEE250N,

& B4

mEHE
B E
IR 21
2 s
L O
| IR © ©
| IPF, dH | \
ax/ @z A
W
iTES S A (A7) B C D E F G Eig
938553 TRS06040 M 6X1.0 40 60 3 20 4.7 25 75
938554 TRS06060 M 6X1.0 60 80 3 20 4.7 25 77
938555 TRS08040 M 8X%1.25 40 60 3 20 6.5 25 80
938556 TRS08060 | M 8x125 60 80 3 20 65 25 85
938557 TRS08080 M 8%X1.25 80 100 3 20 6.5 25 90
938558 TRS10040 M10%x1.5 40 60 3 20 8.2 25 95
938559 TRS10060 M10%X1.5 60 80 3 20 8.2 25 105
938560 TRS10080 | M10X1.5 80 . 100 3 20 82 25 110
938561 TRS12040 M12X1.75 40 60 3 20 10 25 100
938562 TRS12060 M12%X1.75 60 80 3 20 10 25 115
938563 TRS12080 M12X1.75 80 100 3 20 10 25 125
938564 TRS12100 | M12x1.75 100 120 3 20 10 25 140
(7 &Rotis | (ErON)’
CLAMPING SCREWS No.E-9769
K iR
F ZWEFE e pm)
$45C-D 2R TRIRER: 7% MHRC45
LB
ORTFI M L. RIS,
O IZRRTRIRERREUT i KA B, WERMER R,
/A
D
B
m
iTES S A (f87F) B C D E F EEg
951985 CBT20075 M20X%2.5 105 75 30 7 30 350
951986 CBT20090 M20X%X2.5 120 90 30 7 30 380
951987 CBT20100 M20x%2.5 130 100 30 7 30 395
951988 CBT20110 M20X%2.5 140 110 30 7 30 426

AIEER THCADHIE. HITEFEIMA.

R TRFHH

EMLTTH



